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Can you say that by these — 71991 MW MW7 5172 NN
where there is permission; an ox will prove it!

Overview

The X732 states that the mwn 7% of the 7Iwn comes to include the case of
11°M2°2 7PN, We cannot derive it from 712 alone for, as the X713 asks, M2 is
21 since it is dug Mwna X9w; however, by the 171°M2°2 Ppnd the waters are
released into the mw"2 7"77. The reply is that r°21 MWw; even though a MW
has permission to be in the 7"77, nevertheless if he damages there (through
77?) he is 2>1. The same should apply to 17°m2°2 7P, However, Mooin
asks, how will we understand this 31 according to those who interpret the
W of the miwn to refer to 0.

mooIn asks:
— 29N MYHIT NI NIY MIRP 351 I7)9D 9IY NN 9INT INID 99NN ON)
And if you will say; according to the one who maintains' that when the
mwn taught = it was referring to the foot of the MW (the p°m of a MW
means damaging while treading on objects), so how can the X713 state that
a1 (of the *mwn) will prove that MwA2a Xow is not the cause for 21n, for MW
has permission and is nevertheless 3%, Regardless that this is true if W Xin
11779, where the 7 has permission to be in the 1"77 and the damage occurred in the
2"79; however if we maintain 12317 2 Xin -
— MY T PR OWI PIIN NIYIL NON 29090 XD DN XM
Then %37 is not liable unless he damages P37 nwa2, and there (in the
P17 Mwn) the animal has no permission to be there. How can there be a mov
from W (if 12377 W RIN); by MW it is also MwI2 XYW (just like by 712)?! How can we
derive 1"m2a°a 1pmd (which is done mwA2) from (937) W and M2 (which are both done
mwna RH)?

MDOIN answers:
— PN NHYH PN NN 02390 MY T0NY 11D 9D U
And one can say; that we are discussing a case where for instance the
animal was walking in the 2"719 and it hurled an object by its walking,
and the object caused damage in a >''719 -
:%,0 1) JAPY 139NINTD 29N T
In which case, he is liable® as the X773 states later. This is the 57 from M.
We see that even though the 7w had mwA to walk in the 7"717, nevertheless he is liable for
the damages caused by his walking (which resulted in an object being hurled into a >"77
where it caused damage), the same applies to 17°112°2 7PN,

"s5xmw on K,7 7.
2 The mwn 7% is from (1127) M of our 7wn.
? There is a 211 of pra >y for this type of damage, called M™%, See “Thinking it over’ # 1 (&2).
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Summary
The v of MW, according to the 7"» that Y9317 W Rin, is from a case where

the animal was walking in the 7" and flung an object into a >"77.

Thinking it over

1. M50IN maintains that we derive 77°M2°2 PP from M2 and 7377 [N,
By m™17x there is a 211 for only a 1"7; it should therefore follow that PpnIo
7°maa should also pay only a “1"n. How can we derive that there is a 2vn
for a obw pri?!’

2. In a similar vein; 37°11272 7PN should not be 2>°17 in the 7" (according
to the 7"» that 1931% 20 X1n); just as 937 is 1"772 MWo!°

3. Why did not mpoin offer an alternate case; where there was a log which
extended from the 7"77 into the °"77 and the 7nn2 trod on the (part of the)
log which was in the 7"77 and the extension of the log in the °"77 caused
damage’?®

* See 91 wp DaR ;MW 1"7 2,3 77 MdOMN.

> See n"ma.

% See (7178:7) X"wn and 7"910.

7 This case would (at least) seemingly avoid the difficulty posed by question # 1.
8 See oxam 7" mxp MK 1" A
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